Kiz Mobility
2

Liberty Tipping Lever

Item Number Part Number  Description Quantity
1-7 120818 Tipping Lever Assembly Liberty 1
3,5-7 120819 Tipping Lever Mounting Hardware Liberty 1

08-06-2025



[tem Number  Part Number  Description Quantity

1 119596 Mount Bracket, P, Tipping Lever 2
4 100804 Tube End Plug 1" 2
5 103385 M8 x 35 HHCS Blk Zn 2
6 112533 HHCS, M8x1.25x50, CLS10.9, BLZ, ISO7380 1
7 101847 M6 x 40 SHCS BIk Zn 2
8 100659 M8 Nylock Nut Blk Zn 2
9 100658 M6 Nylock Nut Blk Zn 2

08-06-2025




